36 kapT, 6 Bblbupaem

4) BepOSATHOCb, YTO cpean 6 KapT xoTsa Obl ogHa 6yba

KOMOMHAaTOPHO

BCEIO C(36,6)=1947792

YCIEWHBIE

1)

k=C(9,1)*C(27,5) + C(9,2)*C(27,4) + C(9,3)*C(27,3) + C(9,4)*C(27,2) + C(9,5)*C(27,1) + C(9,6)*C(27,0)
=0%*27*26*25*24*23/51+9*8/21*27*26*25*24/41+9*8*7/31*27*26*25/31+9*8*7*6/41*27*26/21+9*8*7*6*5/5!*27+9*8*7*6*5*4/6!=
=1651782

p=k/C(36,6)= 0.84802792084

2)

p* - UTO cpeau BbiTalLEHHbIX 6 KapT HET byben

p=1-p*

ycnexu ans p*

k=27%26%25*24*23*22/6!=296010

p*=296010/1947792=0.15197207915

BEPOATHOCTHO
1) 27/36%26/35*25/34*24/33*23/32*22/31=0.15197207915



